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Data analysis 
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Matrices 
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Q29  3 rows 2 columns matrix, ijk  are all positive,  and 431 =k     E 
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Networks and decision mathematics 
 

Q35  40810967 =++++              C 
 

Q36  Anthea Duty 4, Bob Duty 2, Cho Duty 3 Dario Duty 
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Q37  6 enclosed and 1 outside           B 

 
Q39  Capacity of minimum cut 237412 =++=          B 
 

Q40  The given diagram has low flow to F. 

Reversing the direction of flow along GF provides more flow to F to 

make the minimum cut close to exit H. 

It gives the largest increase from 23 to 30.         E 
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